Available online at http://scik.org J. Math. Comput. Sci. 4 (2014), No. 2, 335-349 ISSN: 1927-5307

EXPANSION THEOREMS FOR DISCONTINUOUS STURM-LIOUVILLE PROBLEMS

FATMA HIRA*, NIHAT ALTINISIK

Department of Mathematics, Ondokuz Mayıs University, Samsun, 55139, Turkey

Abstract. In this paper, we investigate a discontinuous Sturm-Liouville problem which has several discontinuities inside a finite interval and eigenparameter dependent on one of the boundary conditions. We construct Green's function and the resolvent operator for this problem and prove theorems about the eigenfunction expansion for Green's function and the modified Parseval equality in the special Hilbert space.

Keywords: Sturm-Liouville problems; transmission conditions; Green's function; expansion theorems.

2010 AMS Subject Classification: 34B24, 34B27, 34L10.

1. Introduction

In this paper, we consider the following Sturm-Liouville equation

(1)
$$\tau(u) := -u'' + q(x)u = \lambda u, x \in I$$

with boundary conditions

(2)
$$B_0(u) := \beta_1 u(\theta_0) + \beta_2 u'(\theta_0) = 0,$$

(3)
$$B_{m+1}(u) := \lambda \left(\alpha'_1 u(\theta_{m+1}) - \alpha'_2 u'(\theta_{m+1}) \right) + \alpha_1 u(\theta_{m+1}) - \alpha_2 u'(\theta_{m+1}) = 0$$

^{*}Corresponding author

Received February 6, 2014

and transmission conditions at points of discontinuities $\theta_k, k = \overline{1, m}$

(4)
$$T_k(u) := \begin{pmatrix} u(\theta_k + 0) \\ u'(\theta_k + 0) \end{pmatrix} - D_k \begin{pmatrix} u(\theta_k - 0) \\ u'(\theta_k - 0) \end{pmatrix} = 0, \ k = \overline{1, m}$$

where $I := [\theta_0, \theta_1) \cup (\theta_1, \theta_2) \cup ... \cup (\theta_m, \theta_{m+1}]; \lambda$ is a complex eigenparameter; the potential q(x) is given real-valued function which is continuous in each of the intervals $[\theta_0, \theta_1), (\theta_1, \theta_2), ..., (\theta_m, \theta_{m+1}]$ and has finite limit $q(\pm \theta_k) = \lim_{x \to \pm \theta_k} q(x), (k = \overline{1, m}); \beta_i, \alpha_i, \alpha'_i (i = 1, 2)$ are real num-

bers and
$$|\beta_1| + |\beta_2| \neq 0$$
; $\rho := (\alpha'_1 \alpha_2 - \alpha_1 \alpha'_2) > 0$; $D_k = \begin{pmatrix} \gamma_{1k} & \gamma_{2k} \\ \gamma_{3k} & \gamma_{4k} \end{pmatrix} \gamma_{jk} \in \mathbb{R} \ (j = \overline{1, 4}),$
 $|D_k| > 0$ for $k = \overline{1, m}$ and D_0 be the 2 × 2 identity matrix.

Some boundary value problems with transmission conditions arise in heat and mass transfer problems (see [10]) and thermal conduction problems for a thin laminated plate (i.e., plate composed by materials with different characteristics piled in the thickness). In these class of problems, transmission condition across the interface should be added since the plate is laminated (see [16]). Also some problems with transmission conditions which arise in diffraction problems [17] and in vibrating string problems when the string loaded additionaly with point masses [14].

The case for Sturm-Liouville problems with one point of discontinuity and eigenparameter dependent boundary conditions have been investigated in [5,21,2,12,19], respectively. Even more recently, these results were extended to transmission conditions at two and a finite points of discontinuity (see [20,8,7,22] and [4,5,13,18,23], respectively). In [1,11], Green's function and resolvent operator were constructed and derived asymptotic approximation formulae for Green's function. Eigenfunction expansions problem for Sturm-Liouville problems with one point of discontinuity have been investigated in [9,3,15]. By this paper, these expansion theorems extend to a Sturm-Liouville problem which has several discontinuities inside a finite interval.

Operator theoretic interpretation, asymptotic formulas for the eigenvalues and the eigenfunctions for the same problem were given in [6]. We state the results briefly which will use in this paper. Then we construct Green's function and the resolvent operator for the problem (1)-(4) and prove theorems about the eigenfunction expansion for Green's function and the modified Parseval equality in the special Hilbert space.

We construct a special fundamental system of solutions of the equation (1). By virtue of Theorem 1.5 in [15] we can define two solutions $\phi_{\lambda}(x) := \phi(x, \lambda)$ and $\chi_{\lambda}(x) := \chi(x, \lambda)$ as follows:

(5)
$$\phi_{\lambda}(x) = \begin{cases} \phi_{1\lambda}(x), & x \in [\theta_{0}, \theta_{1}) \\ \phi_{2\lambda}(x), & x \in (\theta_{1}, \theta_{2}) \\ \vdots \\ \phi_{(m+1)\lambda}(x), x \in (\theta_{m}, \theta_{m+1}] \end{cases}, \chi_{\lambda}(x) = \begin{cases} \chi_{1\lambda}(x), & x \in [\theta_{0}, \theta_{1}) \\ \chi_{2\lambda}(x), & x \in [\theta_{0}, \theta_{1}) \\ \vdots \\ \chi_{2\lambda}(x), & x \in (\theta_{1}, \theta_{2}) \\ \vdots \\ \chi_{(m+1)\lambda}(x), x \in (\theta_{m}, \theta_{m+1}] \end{cases}$$

Let us consider the initial value problem

(6)
$$-u'' + q(x)u = \lambda u, x \in [\theta_0, \theta_1]$$

(7)
$$u(\theta_0) = \beta_2, \quad u'(\theta_0) = -\beta_1,$$

has a unique solution $u = \phi_{1\lambda}(x)$ which is an entire function of $\lambda \in \mathbb{C}$ for each fixed $x \in [\theta_0, \theta_1]$. Similarly, employing the same method as in proof of Theorem 1.5 in [15], the problem

(8)
$$-u'' + q(x)u = \lambda u, x \in [\theta_m, \theta_{m+1}],$$

(9)
$$u(\theta_{m+1}) = \lambda \alpha'_2 + \alpha_2, \quad u'(\theta_{m+1}) = \lambda \alpha'_1 + \alpha_1,$$

has a unique solution $u = \chi_{(m+1)\lambda}(x)$ which is an entire function of $\lambda \in \mathbb{C}$ for each fixed $x \in [\theta_m, \theta_{m+1}]$.

Now the functions $\phi_{(k+1)\lambda}(x)$ and $\chi_{k\lambda}(x)$ are defined in terms of $\phi_{k\lambda}(x)$ and $\chi_{(k+1)\lambda}(x)$ $\left(k = \overline{1,m}\right)$ respectively, as follows: $\phi_{(k+1)\lambda}(x)$ is a solution of the equation (1) on $[\theta_k, \theta_{k+1}]$ by the transmission condition

(10)
$$\begin{pmatrix} u(\theta_k) \\ u'(\theta_k) \end{pmatrix} = D_k \begin{pmatrix} \phi_k(\theta_k - 0) \\ \phi'_k(\theta_k - 0) \end{pmatrix}, k = \overline{1, m}$$

and $\chi_{k\lambda}(x)$ is a solution of the equation (1) on $[\theta_{k-1}, \theta_k]$ by the transmission condition

(11)
$$\begin{pmatrix} u(\theta_k) \\ u'(\theta_k) \end{pmatrix} = D_k^{-1} \begin{pmatrix} \chi_{k+1}(\theta_k + 0) \\ \chi'_{k+1}(\theta_k + 0) \end{pmatrix}, k = \overline{1, m}.$$

Hence $\phi_{\lambda}(x)$ satisfies the equation (1) on $[\theta_0, \theta_{m+1}]$, the boundary condition (2) and the transmission condition (4), $\chi_{k\lambda}(x)$ satisfies the equation (1) on $[\theta_0, \theta_{m+1}]$, the boundary condition (3) and the transmission condition (4). Since the Wronskians $W(\phi_{k\lambda}, \chi_{k\lambda}; x), (k = \overline{1, m+1})$ are independent of variable *x*, then the functions $\omega_k(\lambda) := W(\phi_{k\lambda}, \chi_{k\lambda}; x), (k = \overline{1, m+1})$ are the entire functions of parameter λ . Let $\omega(\lambda) := \omega_1(\lambda)$ and then we obtain

(12)
$$\omega_{k+1}(\lambda) = \prod_{l=1}^{k} |D_l| \,\omega(\lambda), \, k = \overline{1, m}$$

We defined the Hilbert space $H := \begin{pmatrix} m+1 \\ \bigoplus \\ k=1 \end{pmatrix} L_2(\theta_{k-1}, \theta_k) \oplus \mathbb{C}$ with an inner product

(13)
$$\langle F,G\rangle_{H} := \sum_{k=1}^{m+1} \frac{1}{\prod\limits_{l=1}^{k} |D_{l-1}|} \int\limits_{\theta_{k-1}}^{\theta_{k}} f(x) \overline{g(x)} dx + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} f_{1}\overline{g_{1}},$$

where $F = \begin{pmatrix} f(x) \\ f_1 \end{pmatrix}$, $G = \begin{pmatrix} g(x) \\ g_1 \end{pmatrix} \in H$ and defined a symmetric operator *A* in this Hilbert space such a way that the problem (1)-(4) could be considered as the eigenvalue problem of this operator. Also we gave in [6] the eigenvalues of the problem (1)-(4) are real, bounded below, coincide with the zeros of $\omega(\lambda)$ and two eigenfunctions corresponding to different eigenvalues are orthogonal.

2. Green's Function

To study the completeness of the eigenelements of *A*, and hence the completeness of the eigenfunctions of the problem (1)-(4), we construct the resolvent of *A* as well as Green's function of the problem (1)-(4). We assume without any loss of generality that $\lambda = 0$ is not an eigenvalue of *A*. Otherwise, from discreteness of eigenvalues, we can find a real number μ such that $\mu \neq \lambda_n$ for all *n* and replace the eigenparameter λ by $\lambda - \mu$. Now let $\lambda \in \mathbb{C}$ not be an eigenvalue of *A* and consider the inhomogenous problem for $F = \begin{pmatrix} f(x) \\ f_1 \end{pmatrix} \in H, U = \begin{pmatrix} u(x) \\ R'(u) \end{pmatrix} \in D(A)$

(14)
$$(\lambda \mathbf{I} - A) U = F,$$

where $R(u) = \alpha_1 u(\theta_{m+1}) - \alpha_2 u'(\theta_{m+1})$, $R'(u) = \alpha'_1 u(\theta_{m+1}) - \alpha'_2 u'(\theta_{m+1})$ and I is the identity operator. Since

(15)
$$(\lambda I - A)U = \lambda \begin{pmatrix} u(x) \\ R'(u) \end{pmatrix} - \begin{pmatrix} \tau(u) \\ -R(u) \end{pmatrix} = \begin{pmatrix} f(x) \\ f_1 \end{pmatrix}$$

then we have

(16)
$$(\lambda \mathbf{I} - \tau) u(\mathbf{x}) = f(\mathbf{x}), \ \mathbf{x} \in \mathbf{I},$$

(17)
$$\lambda R'(u) + R(u) = f_1.$$

Now, we can represent the general solution of (16) in the following form:

(18)
$$u(x,\lambda) = \begin{cases} a_1\phi_{1\lambda}(x) + b_1\chi_{1\lambda}(x), & x \in [\theta_0, \theta_1) \\ a_2\phi_{2\lambda}(x) + b_2\chi_{2\lambda}(x), & x \in (\theta_1, \theta_2) \\ \vdots \\ a_{m+1}\phi_{(m+1)\lambda}(x) + b_{m+1}\chi_{(m+1)\lambda}(x), & x \in (\theta_m, \theta_{m+1}]. \end{cases}$$

By applying the method of variation of the constants to (18), thus, the functions $a_i(x,\lambda)$, $b_i(x,\lambda)$ $(i = \overline{1,m+1})$ satisfy the linear system of equation

$$\begin{cases} a_{1}'(x,\lambda) \phi_{1\lambda}(x) + b_{1}'(x,\lambda) \chi_{1\lambda}(x) = 0\\ a_{1}'(x,\lambda) \phi_{1\lambda}'(x) + b_{1}'(x,\lambda) \chi_{1\lambda}'(x) = f(x) \end{cases}, x \in [\theta_{0}, \theta_{1}) \end{cases}$$

(19)
$$\begin{cases} a'_{2}(x,\lambda) \phi_{2\lambda}(x) + b'_{2}(x,\lambda) \chi_{2\lambda}(x) = 0 \\ a'_{2}(x,\lambda) \phi'_{2\lambda}(x) + b'_{2}(x,\lambda) \chi'_{2\lambda}(x) = f(x) \end{cases}, \quad x \in (\theta_{1},\theta_{2}) \\ \vdots \\ \begin{cases} a'_{m+1}(x,\lambda) \phi_{(m+1)\lambda}(x) + b'_{m+1}(x,\lambda) \chi_{(m+1)\lambda}(x) = 0 \\ a'_{m+1}(x,\lambda) \phi'_{(m+1)\lambda}(x) + b'_{m+1}(x,\lambda) \chi_{(m+1)\lambda}(x) = f(x) \end{cases}, \quad x \in (\theta_{m}, \theta_{m+1}]. \end{cases}$$

Since λ is not an eigenvalue and $\omega_{k+1}(\lambda) \neq 0$ $(k = \overline{1,m})$, each of the linear systems in (19) has a unique solution which leads

$$\begin{cases} a_{1}(x,\lambda) = \frac{1}{\omega_{1}(\lambda)} \int_{x}^{\theta_{1}} \chi_{1\lambda}(y) f(y) dy + a_{1}(\lambda) \\ b_{1}(x,\lambda) = \frac{1}{\omega_{1}(\lambda)} \int_{\theta_{0}}^{\theta} \phi_{1\lambda}(y) f(y) dy + b_{1}(\lambda) \\ a_{2}(x,\lambda) = \frac{1}{\omega_{2}(\lambda)} \int_{x}^{\theta} \chi_{2\lambda}(y) f(y) dy + a_{2}(\lambda) \\ b_{2}(x,\lambda) = \frac{1}{\omega_{2}(\lambda)} \int_{\theta_{1}}^{\theta} \phi_{2\lambda}(y) f(y) dy + b_{2}(\lambda) \\ \vdots \\ \begin{cases} a_{m+1}(x,\lambda) = \frac{1}{\omega_{m+1}(\lambda)} \int_{x}^{x} \chi_{(m+1)\lambda}(y) f(y) dy + a_{m+1}(\lambda) \\ b_{m+1}(x,\lambda) = \frac{1}{\omega_{m+1}(\lambda)} \int_{\theta_{m}}^{\theta} \phi_{(m+1)\lambda}(y) f(y) dy + b_{m+1}(\lambda) \end{cases}, x \in (\theta_{m}, \theta_{m+1}] \end{cases}$$

where $a_i(\lambda)$, $b_i(\lambda)$ $(i = \overline{1, m+1})$ are arbitrary constants. Substituting (20) into (18), then from (17) and the transmission conditions (4), we obtain

$$\begin{aligned} a_{1}\left(\lambda\right) &= \frac{1}{\omega_{2}(\lambda)} \int_{\theta_{1}}^{\theta_{2}} \chi_{2\lambda}\left(y\right) f\left(y\right) dy + \frac{1}{\omega_{3}(\lambda)} \int_{\theta_{2}}^{\theta_{3}} \chi_{3\lambda}\left(y\right) f\left(y\right) dy + \ldots + \\ &= \frac{1}{\omega_{m+1}(\lambda)} \int_{\theta_{m}}^{\theta_{m+1}} \chi_{(m+1)\lambda}\left(y\right) f\left(y\right) dy + \frac{f_{1}}{\omega_{m+1}(\lambda)} \\ a_{2}\left(\lambda\right) &= \frac{1}{\omega_{3}(\lambda)} \int_{\theta_{2}}^{\theta_{3}} \chi_{3\lambda}\left(y\right) f\left(y\right) dy + \frac{1}{\omega_{4}(\lambda)} \int_{\theta_{3}}^{\theta_{4}} \chi_{4\lambda}\left(y\right) f\left(y\right) dy + \ldots + \\ &= \frac{1}{\omega_{m+1}(\lambda)} \int_{\theta_{m}}^{\theta_{m+1}} \chi_{(m+1)\lambda}\left(y\right) f\left(y\right) dy + \frac{f_{1}}{\omega_{m+1}(\lambda)} \\ \vdots \\ a_{m}\left(\lambda\right) &= \frac{1}{\omega_{m+1}(\lambda)} \int_{\theta_{m}}^{\theta_{m+1}} \chi_{(m+1)\lambda}\left(y\right) f\left(y\right) dy + \frac{f_{1}}{\omega_{m+1}(\lambda)} \\ a_{m+1}\left(\lambda\right) &= \frac{f_{1}}{\omega_{m+1}(\lambda)} \end{aligned}$$

340

$$b_{1}(\lambda) = 0$$

$$b_{2}(\lambda) = \frac{1}{\omega_{1}(\lambda)} \int_{\theta_{0}}^{\theta_{1}} \phi_{1\lambda}(y) f(y) dy$$
:
$$b_{m}(\lambda) = \frac{1}{\omega_{m-1}(\lambda)} \int_{\theta_{m-2}}^{\theta_{m-1}} \phi_{(m-1)\lambda}(y) f(y) dy + \frac{1}{\omega_{m-2}(\lambda)} \int_{\theta_{m-3}}^{\theta_{m-2}} \phi_{(m-2)\lambda}(y) f(y) dy$$

$$+ \dots + \frac{1}{\omega_{1}(\lambda)} \int_{\theta_{0}}^{\theta_{1}} \phi_{1\lambda}(y) f(y) dy + \frac{1}{\omega_{m-1}(\lambda)} \int_{\theta_{m-2}}^{\theta_{m-1}} \phi_{(m-1)\lambda}(y) f(y) dy$$

$$+ \dots + \frac{1}{\omega_{1}(\lambda)} \int_{\theta_{0}}^{\theta_{1}} \phi_{1\lambda}(y) f(y) dy.$$

$$u(x,\lambda) = \begin{cases} \frac{\phi_{1\lambda}(x)}{\omega_{1}(\lambda)} \int_{x}^{\theta_{1}} \chi_{1\lambda}(y) f(y) dy + \frac{\chi_{1\lambda}(x)}{\omega_{1}(\lambda)} \int_{\theta_{0}}^{x} \phi_{1\lambda}(y) f(y) dy + \\ \frac{\theta_{2}}{\omega_{2}(\lambda)} \int_{x}^{\theta_{2}} \chi_{2\lambda}(y) f(y) dy + \frac{\phi_{1\lambda}(x)}{\omega_{2}(\lambda)} \int_{\theta_{2}}^{y} \chi_{3\lambda}(y) f(y) dy + ... + \\ \frac{\theta_{m+1}}{\theta_{m+1}} \\ \frac{\phi_{1\lambda}(x)}{\omega_{2}(\lambda)} \int_{\theta_{m}}^{\theta_{2}} \chi_{(m+1)\lambda}(y) f(y) dy + \frac{f_{1}\theta_{1\lambda}(x)}{\omega_{2}(\lambda)}, \qquad x \in [\theta_{0}, \theta_{1}) \end{cases}$$

$$u(x,\lambda) = \begin{cases} \frac{\phi_{2\lambda}(x)}{\omega_{2}(\lambda)} \int_{x}^{\theta_{2}} \chi_{2\lambda}(y) f(y) dy + \frac{\chi_{2\lambda}(x)}{\omega_{2}(\lambda)} \int_{\theta_{1}}^{x} \theta_{2\lambda}(y) f(y) dy + \frac{\phi_{2\lambda}(x)}{\omega_{m+1}(\lambda)} \int_{\theta_{2}}^{\theta_{3}} \chi_{3\lambda}(y) f(y) dy + \\ \frac{\phi_{2\lambda}(x)}{\omega_{2}(\lambda)} \int_{x}^{\theta_{4}} \chi_{2\lambda}(y) f(y) dy + \dots + \frac{\phi_{2\lambda}(x)}{\omega_{2\lambda}(\lambda)} \int_{\theta_{m}}^{\theta_{m+1}} \chi_{(m+1)\lambda}(y) f(y) dy + \\ \frac{\phi_{2\lambda}(x)}{\omega_{4}(\lambda)} \int_{\theta_{3}}^{\theta_{4}} \chi_{4\lambda}(y) f(y) dy + \dots + \frac{\phi_{2\lambda}(x)}{\omega_{m+1}(\lambda)} \int_{\theta_{m}}^{\theta_{m+1}} \chi_{(m+1)\lambda}(y) f(y) dy + \\ \frac{\chi_{2\lambda}(x)}{\omega_{4}(\lambda)} \int_{\theta_{3}}^{\theta} \phi_{1\lambda}(y) f(y) dy + \frac{f_{1}\phi_{2\lambda}(x)}{\omega_{m+1}(\lambda)}, \qquad x \in (\theta_{1}, \theta_{2}) \end{cases}$$

$$\vdots$$

$$\frac{\phi_{(m+1)\lambda}(x)}{\omega_{m}(\lambda)} \int_{\theta_{m}}^{\theta_{m}} \phi_{m\lambda}(y) f(y) dy + \frac{\chi_{(m+1)\lambda}(x)}{\omega_{m-1}(\lambda)} \int_{\theta_{m}}^{\theta_{m}} \phi_{(m-1)\lambda}(y) f(y) dy + \dots + \\ \frac{\chi_{(m+1)\lambda}(x)}{\omega_{m}(\lambda)} \int_{\theta_{0}}^{\theta_{1}} \chi(y) f(y) dy + \frac{f_{1}\phi_{(m+1)\lambda}(x)}{\omega_{m-1}(\lambda)} \int_{\theta_{m}}^{\theta_{m}} \phi_{(m-1)\lambda}(y) f(y) dy + \dots + \\ \frac{\chi_{(m+1)\lambda}(x)}{\omega_{m}(\lambda)} \int_{\theta_{0}}^{\theta_{0}} \eta_{1\lambda}(y) f(y) dy + \frac{f_{1}\phi_{(m+1)\lambda}(x)}{\omega_{m-1}(\lambda)} \int_{\theta_{m}}^{\theta_{m}} \phi_{(m-1)\lambda}(y) f(y) dy + \dots + \\ \frac{\chi_{(m+1)\lambda}(x)}{\omega_{0}(\lambda)} \int_{\theta_{0}}^{\theta_{0}} \eta_{1\lambda}(y) f(y) dy + \frac{f_{1}\phi_{(m+1)\lambda}(x)}{\omega_{m+1}(\lambda)}, \qquad x \in (\theta_{m}, \theta_{m+1}]. \end{cases}$$

Substituting (12) into (21) and from (13), then (21) can be written in the form

(22)
$$u(x,\lambda) = \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} G(x,y;\lambda) f(y) dy + \frac{f_{1}\phi_{\lambda}(x)}{|D_{1}D_{2}...D_{m}|\omega(\lambda)},$$

where

(23)
$$G(x,y;\lambda) = \begin{cases} \frac{\phi_{\lambda}(y)\chi_{\lambda}(x)}{\omega(\lambda)}, & \theta_0 \le y \le x \le \theta_{m+1}, x, y \ne \theta_k, k = \overline{1,m} \\ \frac{\phi_{\lambda}(x)\chi_{\lambda}(y)}{\omega(\lambda)}, & \theta_0 \le x \le y \le \theta_{m+1}, x, y \ne \theta_k, k = \overline{1,m} \end{cases}$$

is Green's function of the problem (1)-(4).

Hence, we have

(24)
$$U = (\lambda \mathbf{I} - A)^{-1} F = \begin{pmatrix} \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_k} G(x, y; \lambda) f(y) dy + \frac{f_1 \phi_\lambda(x)}{|D_1 D_2 \dots D_m| \omega(\lambda)} \\ R'(u) \end{pmatrix}$$

the resolvent of the problem (1)-(4).

Denoting
$$\mathbf{G}_{x,\lambda} = \begin{pmatrix} G(x,\cdot;\lambda) \\ R'(G(x,\cdot;\lambda)) \end{pmatrix}$$
, $\overline{F} = \begin{pmatrix} \overline{f(x)} \\ \overline{f_1} \end{pmatrix}$ and from (13) and (24) the resolvent of the operator can be represented in the form

of the operator can be represented in the form

(25)
$$U = \begin{pmatrix} \langle \mathbf{G}_{x,\lambda}, \overline{F} \rangle \\ R' \left(\langle \mathbf{G}_{x,\lambda}, \overline{F} \rangle \right) \end{pmatrix}$$

3. Eigenfunction Expansion for Green's Function and the Modified Parseval Equality

In this section, we derive the eigenfunction expansion for Green's function of the problem (1)-(4), and establish the modified Parseval equality in the associated Hilbert space H. Without loss of generality we assume that $\lambda = 0$ is not an eigenvalue. Let $\mathbf{G}_{x,0} = G(x,y;0)$.

From (25), the solution of the equation $A\Phi = \lambda \Phi$ can be written in the form

(26)
$$\Phi = \begin{pmatrix} \left\langle \mathbf{G}_{x,0}, -\overline{\lambda \Phi} \right\rangle \\ R' \left(\left\langle G_{x,0}, -\overline{\lambda \Phi} \right\rangle \right) \end{pmatrix}$$

and the first component of this solution can be written as

(27)
$$\phi(x) = -\lambda \langle \mathbf{G}_{x,0}, \Phi \rangle.$$

Theorem 3.1. Let λ_n be the eigenvalues of the problem (1)-(4) and $\Psi_n(x)$ be the corresponding normalized eigenelements. Then

(28)
$$\mathbf{G}_{x,0} = -\sum_{n=1}^{\infty} \frac{\Psi_n(x)\Psi_n(y)}{\lambda_n}.$$

Proof. Let $P(x,y) = \mathbf{G}_{x,0} + \sum_{n=1}^{\infty} \frac{\Psi_n(x)\Psi_n(y)}{\lambda_n}$. Then P(x,y) is continuous and symmetric. We assume $P(x,y) \neq 0$. Then by the Fredholm integral equation, there is a number λ_0 and a function $\Phi_0(x) \neq 0$ in H such that $\Phi_0 = \begin{pmatrix} \phi_0(x) \\ R'(\phi_0) \end{pmatrix}$ and satisfy

(29)
$$\phi_0(x) = \lambda_0 \langle P(x,y), \Phi_0 \rangle.$$

Since each $\Psi_n(x)$ is an eigenelement, we obtain from (27) that

(30)
$$\Psi_n(x) + \lambda_n \langle \mathbf{G}_{x,0}, \Psi_n \rangle = 0.$$

Then, substituting from (30), we obtain

(31)

$$\langle P(x,y), \Psi_m \rangle = \left\langle \mathbf{G}_{x,0} + \sum_{n=1}^{\infty} \frac{\Psi_n(x)\Psi_n(y)}{\lambda_n}, \Psi_m \right\rangle$$

$$= \left\langle \mathbf{G}_{x,0}, \Psi_m \right\rangle + \sum_{n=1}^{\infty} \frac{\Psi_n(x)}{\lambda_n} \left\langle \Psi_n, \Psi_m \right\rangle$$

$$= -\frac{1}{\lambda_m} \Psi_m + \frac{1}{\lambda_m} \Psi_m$$

$$= 0.$$

From (29), we get

(32)
$$\Phi_0 = \lambda_0 \left(\begin{array}{c} \langle P(x,y), \Phi_0 \rangle \\ R'(\langle P(x,y), \Phi_0 \rangle) \end{array} \right).$$

By the definition of the inner product (13), we get

344

$$\langle \Phi_{0}, \Psi_{n} \rangle = \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} \lambda_{0} \langle P(x, y), \Phi_{0} \rangle \Psi_{n}(x) dx + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} \lambda_{0} R' (\langle P(x, y), \Phi_{0} \rangle) R'(\Psi_{n}) = \lambda_{0} \begin{cases} \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} \begin{cases} \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} P(x, y) \phi_{0}(y) dy + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} R' (P(x, y)) R'(\phi_{0}) \end{cases} \Psi_{n}(x) dx + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} \begin{cases} \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} R' (P(x, y)) \phi_{0}(y) dy + \\ \frac{1}{\rho |D_{1}D_{2}...D_{m}|} R' (R' (P(x, y))) R'(\phi_{0}) \end{cases} R'(\psi_{n}) \end{cases} \\ = \lambda_{0} \begin{cases} \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} \langle P(x, y), \Psi_{n} \rangle \phi_{0}(y) dy + \\ \frac{1}{\rho |D_{1}D_{2}...D_{m}|} R' (\langle P(x, y), \Psi_{n} \rangle) R'(\phi_{0}) \end{cases} . \end{cases}$$

Substituting (31) into (33), we obtain

(34)
$$\langle \Phi_0, \Psi_n \rangle = 0.$$

Then from (29) and (34), we see that

(35)

$$\phi_{0}(x) = \lambda_{0} \langle P(x,y), \Phi_{0} \rangle = \lambda_{0} \left\langle \mathbf{G}_{x,0} + \sum_{n=1}^{\infty} \frac{\Psi_{n}(x)\Psi_{n}(y)}{\lambda_{n}}, \Phi_{0} \right\rangle$$

$$= \lambda_{0} \langle \mathbf{G}_{x,0}, \Phi_{0} \rangle + \lambda_{0} \sum_{n=1}^{\infty} \frac{\Psi_{n}(x)}{\lambda_{n}} \langle \Psi_{n}, \Phi_{0} \rangle$$

$$= \lambda_{0} \langle \mathbf{G}_{x,0}, \Phi_{0} \rangle.$$

This implies Φ_0 is the eigenelement of the problem (1)-(4). So from (34) and the completeness of the eigenfunctions, we know $\Phi_0 = 0$. Thus we get a contradiction. Consequently P(x, y) = 0. The proof is completed.

Theorem 3.2. Let $f \in L_2(\theta_0, \theta_{m+1})$. Then f(x) can be expanded into an absolutely and uniformly convergent series of eigenfunctions, that is

(36)
$$f(x) = \sum_{n=1}^{\infty} \left\{ \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} f(y) \psi_{n}(y) dy + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} R'(f) R'(\psi_{n}) \right\} \psi_{n}(x).$$

Proof. Let $f \in L_2(\theta_0, \theta_{m+1})$. Then $F = \begin{pmatrix} f(x) \\ R'(f) \end{pmatrix} \in D(A)$. It follows that the function f(x)

can be written as

(37)
$$f(x) = \left\langle \mathbf{G}_{x,0}, -\overline{AF} \right\rangle.$$

Substituting (28) into (37) we get

(38)
$$f(x) = \sum_{n=1}^{\infty} \frac{\Psi_n(x)}{\lambda_n} \langle \Psi_n, \overline{AF} \rangle.$$

Since the operator A is symmetric (see [6]), we have

(39)
$$\langle \Psi_n, \overline{AF} \rangle = \langle AF, \Psi_n \rangle = \langle F, A\Psi_n \rangle = \langle F, \lambda \Psi_n \rangle = \lambda_n \langle F, \Psi_n \rangle.$$

From (38) and (39), we obtain

(40)
$$F = \sum_{n=1}^{\infty} \langle F, \Psi_n \rangle \Psi_n.$$

If the equality (40) is written as open and the first component being equal the proof is completed.

Theorem 3.3. Let $f \in L_2(\theta_0, \theta_{m+1})$. Then the modified Parseval equality holds, that is

(41)
$$||f||_{L_2(\theta_0,\theta_{m+1})}^2 = \sum_{n=1}^{\infty} |c_n|^2$$

where $||f||^2_{L_2(\theta_0,\theta_{m+1})} = \langle f, f \rangle$ and c_n is

(42)
$$c_{n} = \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} f(x) \psi_{n}(x) dx + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} R'(f) R'(\psi_{n}).$$

Proof. For any $f \in L_2(\theta_0, \theta_{m+1})$, there exists a sequence $\{f_k\}_{k \in \mathbb{N}} \subset \widetilde{C}_0^{\infty}$ converging to f in $L_2(\theta_0, \theta_{m+1})$. Since \widetilde{C}_0^{∞} is dense in $L_2(\theta_0, \theta_{m+1})$ (see [3]), we find from Theorem 3.2 becomes

(43)
$$f_k(x) = \sum_{n=1}^{\infty} c_n^{(k)} \psi_n(x),$$

where $c_n^{(k)}$ is

(44)
$$c_{n}^{(k)} = \sum_{k=1}^{m+1} \frac{1}{\prod_{l=1}^{k} |D_{l-1}|} \int_{\theta_{k-1}}^{\theta_{k}} f_{k}(x) \psi_{n}(x) dx + \frac{1}{\rho |D_{1}D_{2}...D_{m}|} R'(f_{k}) R'(\psi_{n})$$

and we get

$$\langle f_k - f_l, \Psi_n \rangle_{L_2(\theta_0, \theta_{m+1})} = c_n^{(k)} - c_n^{(l)}.$$

It follows that

(45)
$$||f_k - f_l||^2_{L_2(\theta_0, \theta_{m+1})} = \sum_{n=1}^{\infty} \left| c_n^{(k)} - c_n^{(l)} \right|^2.$$

By the Cauchy-Schwartz inequality, we have

$$|c_n - c_n^{(k)}| = |\langle f - f_k, \Psi_n \rangle_{L_2(\theta_0, \theta_{m+1})}| = ||f_k - f_l||_{L_2(\theta_0, \theta_{m+1})}.$$

Hence $\lim_{k\to\infty} c_n^{(k)} = c_n$. Since (45), we can write

(46)
$$\sum_{n=1}^{N} \left| c_n^{(k)} - c_n^{(l)} \right|^2 \le \| f_k - f_l \|_{L_2(\theta_0, \theta_{m+1})}^2$$

Letting $k \to \infty$, we find the inequality (46) becomes

$$\sum_{n=1}^{N} \left| c_n - c_n^{(l)} \right|^2 \le \| f - f_l \|_{L_2(\theta_0, \theta_{m+1})}^2.$$

Letting $N \to \infty$, we have

(47)
$$\sum_{n=1}^{\infty} \left| c_n - c_n^{(l)} \right|^2 \le \| f - f_l \|_{L_2(\theta_0, \theta_{m+1})}^2.$$

Then by the Minkowski inequality

$$\sum_{n=1}^{\infty} |c_n|^2 = \sum_{n=1}^{\infty} \left| c_n - c_n^{(l)} + c_n^{(l)} \right|^2 \le \left(\left(\sum_{n=1}^{\infty} \left| c_n - c_n^{(l)} \right|^2 \right)^{1/2} + \left(\sum_{n=1}^{\infty} \left| c_n^{(l)} \right|^2 \right)^{1/2} \right)^2 < \infty$$

and by the Hölder's inequality

$$\begin{aligned} \left| \sum_{n=1}^{\infty} |c_n|^2 - \sum_{n=1}^{\infty} |c_n^{(k)}|^2 \right| &= \left| \sum_{n=1}^{\infty} |c_n - c_n^{(k)}| \left| c_n + c_n^{(k)} \right| \right| \\ &\leq \left(\sum_{n=1}^{\infty} |c_n - c_n^{(k)}|^2 \right)^{1/2} \left(\sum_{n=1}^{\infty} |c_n + c_n^{(k)}|^2 \right)^{1/2} \to 0, \text{ as } k \to \infty. \end{aligned}$$

$$\begin{aligned} & \text{means } \lim_{k \to \infty} \sum_{n=1}^{\infty} |c_n^{(k)}|^2 = \sum_{n=1}^{\infty} |c_n|^2 \text{ . Since } f_k \to f \text{ in } L_2\left(\theta_0, \theta_{m+1}\right) \text{ as } k \to \infty, \\ & \lim_{k \to \infty} \|f_k\|_{L_2(\theta_0, \theta_{m+1})} = \|f\|_{L_2(\theta_0, \theta_{m+1})}. \end{aligned}$$

Thus, we obtain

$$\|f\|_{L_{2}(\theta_{0},\theta_{m+1})}^{2} = \lim_{k \to \infty} \|f_{k}\|_{L_{2}(\theta_{0},\theta_{m+1})}^{2} = \lim_{k \to \infty} \sum_{n=1}^{\infty} |c_{n}|^{2} = \sum_{n=1}^{\infty} |c_{n}|^{2}.$$

This completes the proof.

Conflict of Interests

The authors declare that there is no conflict of interests.

REFERENCES

- Z. Akdoğan, M. Demirci, O Sh. Mukhtarov, Green function of discontinuous boundary value problem with transmission conditions, Math. Models Methods Appl. Sci. 30 (2007), 1719-1738.
- [2] N. Altınışık, M. Kadakal O. Sh. Mukhtarov, Eigenvalues and eigenfunctions of discontinuous Sturm Liouville problems with eigenparameter dependent boundary conditions, Acta Math. Hungarica 102 (2004), 159-175.
- [3] M. Bai, J. Sun, S. Yao, The Modified Parseval Equality of Sturm-Liouville problems with transmission conditions, J. Appl. Math. Mathematics, 2013 (2013), Article ID 619358.
- [4] B. Chanane, Sturm Liouville problems with impulse effects, Appl. Math. Comput. 190 (2007), 610-626.
- [5] O. Hald, Discontinuous inverse eigenvalue problems, Commun. Pure. Appl. Math. 37 (1984), 539-577.
- [6] F. Hıra, N. Altınışık, Sturm Liouville problem with discontinuity conditions at several points, AIP Conf. Proc. 1470 (2012), 126-129.
- [7] M. Kadakal, O. Sh. Mukhtarov, Sturm–Liouville problems with discontinuities at two points, Comput. Math. Appl. 54 (2007), 1367-1379.
- [8] M. Kobayashi, Eigenfunction expansions: A discontinuous version, SIAM J. Appl. Math. 50 (1990), 910-917.
- [9] B. M. Levitan, The Eigenfunction Expansion for the Second Order Differential Operator, M.L. (1990).
- [10] A.V. Likov, Yu. A. Mikhailov, The Theory of Heat and Mass Transfer, Qosenergaizdat, (Russian) (1963).

This

- [11] O. Sh. Mukhtarov, M. Kadakal, F. S. Muhtarov, On discontinuous Sturm-Liouville problems with transmission conditions, J. Math. Kyoto Univ. 44 (2004), 779-798.
- [12] O. Sh. Mukhtarov, M. Kadakal, Some spectral properties of one Sturm-Liouville type problem with discoutinous weight, Siberian Math. J. 46 (2005), 681-694.
- [13] M. Shahriari, A. J. Akbarfam, G. Teschl, Uniqueness for inverse Sturm-Liouville problems with a finite number of transmission conditions, J. Math. Anal. Appl. 395 (2012), 19-29.
- [14] A.N. Tikhonov, A.A. Samarskii, Equations of Mathematical Physics, Oxford and New York, Pergamon, (1963).
- [15] E. C. Titchmarsh, Eigenfunctions Expansion Associated with Second Order Differential Equations I, Oxford Univ. Press London, (1962).
- [16] I. Titeux, Y. Yakubov, Completeness of root functions for thermal conduction in a strip with piecewise continuous coefficients, Math. Models Methods Appl. Sci. 7 (1997), 1035-1050.
- [17] N.N. Voitovich, B.Z. Katsenelbaum, A.N. Sivov, Generalized Method of Eigen-vibration in the theory of Diffraction, Nakua, Mockow, (Russian) (1997).
- [18] Y.P. Wang, Inverse problems for Sturm-Liouville operators with interior discontinuities and boundary conditions dependent on the spectral parameter, Math. Meth. Appl. Sci. 36 (2013), 857-868.
- [19] A. Wang, J. Sun, X. Hao, S. Yao, Completeness of eigenfunctions of Sturm Liouville problems with transmission conditions, Methods Appl. Anal. 16 (2009), 299-312.
- [20] C. Willis, Inverse Sturm Liouville problems with two discontinuities, Inverse Probl. 1 (1985), 263-289.
- [21] C.-F. Yang, An interior inverse problem for discontinuous boundary-value problems, Integral Equations Operator Theory 65 (2009), 593-604.
- [22] Q. Yang, W.Wang, Asymptotic behaviour of a differential operator with discontinuities at two points, Math. Methods Appl. Sci. 34 (2011), 373-383.
- [23] Q. Yang, W. Wang, Spectral properties of a Sturm-Liouville operators with discontinuities at finite points, Math. Sci. ematical 6 (2012), Article ID 34.